
かけ算の穴うめ

• 3 × (　　) = 9

• 7 × (　　) = 35

• 4 × (　　) = 4

• 2 × (　　) = 8

• 3 × (　　) = 24

• 2 × (　　) = 10

• 6 × (　　) = 6

• 8 × (　　) = 16

• 4 × (　　) = 24

• 6 × (　　) = 24

• 2 × (　　) = 18

• 1 × (　　) = 7

• 6 × (　　) = 30

• 4 × (　　) = 12

• 8 × (　　) = 32

• 6 × (　　) = 48

• 9 × (　　) = 81

• 8 × (　　) = 72

• 4 × (　　) = 28

• 5 × (　　) = 40

• 9 × (　　) = 81

• 4 × (　　) = 28

3 年>わり算>かけ算の穴うめ



かけ算の穴うめ

• 3 × (　　) = 12

• 9 × (　　) = 54

• 5 × (　　) = 35

• 6 × (　　) = 42

• 2 × (　　) = 12

• 7 × (　　) = 56

• 2 × (　　) = 18

• 3 × (　　) = 27

• 2 × (　　) = 6

• 6 × (　　) = 42

• 8 × (　　) = 40

• 4 × (　　) = 36

• 6 × (　　) = 30

• 2 × (　　) = 8

• 1 × (　　) = 2

• 6 × (　　) = 44

• 9 × (　　) = 45

• 8 × (　　) = 32

• 4 × (　　) = 20

• 5 × (　　) = 20

• 9 × (　　) = 72

• 4 × (　　) = 12

3 年>わり算>かけ算の穴うめ


